Ex:
$$\langle \mathbb{Z}, + \rangle$$
 is a group where
 $\mathbb{Z} = \{ 2, ..., -3, -2, -1, 0, 1, 2, 3, ..., 3 \}$
is the set of integers.
(1) If a,b are integers,
then a+b is an integer.
(2) If a,b,c are integers,
then a+(b+c) = (a+b)+c
(3) $e=0$ is an identity element
since $0+a = a + 0 = a$
for any integer a.
(4) Given $a \in \mathbb{Z}$ we know $b=-a$
is an integer and $a+(-a)=0$
and $(-a)+a=0$.

(f) If
$$a \in [k, then c]$$

and $a + (-a) = (-a) + a = 0$

Ex: IR under multiplication. is not a group.

Properties
$$0, 0, 3$$
 will hold
with $e = 1$ in 3 . However
 4 will not hold. Why?
Pick $a = 0$. Then there
is no b where $0b = 1$
 $a \cdot b = e$

Ex: Let
$$\mathbb{R}^* = \mathbb{R} - \{0\}$$

remove 0 from \mathbb{R}
 $\xrightarrow{-2} -1 \quad 0 \quad 1 \quad 2$
Then \mathbb{R}^* is a group under multiplication
 \mathbb{R}^* and \mathbb{R}^* . Then $a, b \in \mathbb{R}$ and
 $a \neq 0, b \neq 0$.
Since $a \in \mathbb{R}$ and $b \in \mathbb{R}$ we
know $ab \in \mathbb{R}$.
Since $a \neq 0$ and $b \neq 1$ we
know $ab \neq 0$.
 \mathbb{R}^* .
 \mathbb{R}^* and \mathbb{R}^* .
 \mathbb{R}^* and \mathbb{R}^* .
 \mathbb{R}^* and \mathbb{R}^* .
 \mathbb{R}^* and \mathbb{R}^* .
 \mathbb{R}^* and \mathbb{R}^* .
 \mathbb{R}^* .

(3) e=1 is in \mathbb{R}^{+} and $a \cdot 1 = 1 \cdot a = a$ for all $a \in \mathbb{R}^{+}$. (4) Let $a \in \mathbb{R}^{+}$. Then $a \in \mathbb{R}$, $a \neq 0$. Thus, $b = \frac{1}{a} \in \mathbb{R}$ and $b \neq 0$. And $\frac{1}{a} \cdot a = a \cdot \frac{1}{a} = 1$

Def: A group
$$\langle G, \star \rangle$$
 is
abelian if $a \star b = b \star a$
for every $a, b \in G$.

$$E_X: \langle \mathbb{Z}, +7 \text{ is abelian} \\ \langle \mathbb{R}, +7 \text{ is abelian} \\ \langle \mathbb{R}, +7 \text{ is abelian} \\ \langle \mathbb{R}^*, \cdot \rangle \text{ is abelian}$$

Ex: The set of rational numbers

$$Q = \{\frac{a}{b} \mid a, b \in \mathbb{Z}, b \neq 0\}$$

is an abelian group under addition

Exi (Integers modulo n) Recall that it a, b e Z then a divides b if there exists REZ with b=ak. If so then we write alb. read: "a divider b" Ex: 5 [15 because 15 = (5)(3) $6 \left(-42 \right) = -42 = (6)(-7)$

Recall from 3450:
Let
$$n \in \mathbb{Z}$$
, $n \ge 2$.
Given $a, b \in \mathbb{Z}$ we write $a \equiv b \pmod{n}$
if $n \text{ divides } a = b$.
For example, $10 \equiv 2 \pmod{4} \ll \frac{n=4}{2}$
because $10-2=8$ and 4 divides 8.



In Math 3450, you show that nod n is an equivalence relation, Hence the set of equivalence classes $\overline{X} = \{y \mid y \in \mathbb{Z} \text{ and } y \equiv x \pmod{n}\}$ Partition \mathbb{Z} .

For example, if n=2, then $\overline{O} = \{ \{ \} \mid \} \in \mathbb{Z} \text{ and } \{ \} \in \mathbb{O} (\text{mod } 2) \}$ $= \{ \dots, -6, -4, -2, 0, 2, 4, 6, 8, \dots \}$ $T = \{y \mid y \in \mathbb{Z} \text{ and } y \equiv 1 \pmod{2} \}$ $= \{2, \dots, -5, -3, -1, 1, 3, 5, 7, \dots\}$



 $5 = \{y \mid y = 5 \pmod{2}\}$ Note, = {...,-3,-1,1,3,5,7,9,11,...} = (

and $-2 = \{y \mid y = -2 \pmod{2}\}$ $= \{ \{ \dots, -8, -6, -4, -2, 0, 2, 4, 6, \dots \}$ 20 The unique equivalence classes modulo n=2 are O, T. For general n, the unique equivalence classes are つ、「、 こ、 ··· 、 n-1. We define the <u>set of integers</u> Modulo n to be $\mathbb{Z}_{n} = \{\overline{2}, \overline{1}, \overline{2}, \dots, \overline{n-1}\}$

In Zn one has: ● a=b iff a=b(mod n) • If you divide n into X and get remainder r, then $\overline{\chi} = \overline{\Gamma}$. · Define a + b = a + b $\overline{a} \cdot b = \overline{a} \overline{b}$ In Math 3450/4460 you show these operations are well-defined.

Ex: $\mathbb{Z}_6 = \{\overline{2}, \overline{1}, \overline{2}, \overline{3}, \overline{4}, \overline{5}\}$ 3 + 5 = 8 = 2way li $8 \equiv 2 \pmod{6}$ since 6 divides 8-2=6 Way Z: 6 8 (Z) E remainder $5+4\cdot3=5+12=17=5$ way 2: way 1: 17 = 5 (mod 6)- 12 17-5=12 and 6/12 remainder

In 16 we have: identity is 0 inverse of x X 4 0+0=0 0 $\overline{0}$ & T+S=G=0 5 ₹ 2+4=G=0 4 Z æ3+3=6=0 -3 3 q q+2=6=0 2 4 €-5+T=G=0 5

Theorem: The ret \mathbb{Z}_n is a group under addition. The identity element is \overline{O} . The inverse of \overline{a} is $\overline{-a} = \overline{n-a}$. The inverse of \overline{a} is $\overline{-a} = \overline{n-a}$. Further, \mathbb{Z}_n is an abelian group.

Proof: (Skip in class)
(1) Given
$$\overline{a}, \overline{b} \in \mathbb{Z}_n$$
 with $a, b \in \mathbb{Z}$ we have $\overline{a} + \overline{b} = \overline{a} + \overline{b} \in \mathbb{Z}_n$
Since $\overline{a} + \overline{b} \in \mathbb{Z}_n$ we have
 $\overline{a} + (\overline{b} + \overline{c}) = \overline{a} + \overline{b} + \overline{c} = \overline{a} + (\overline{b} + \overline{c})$
 $= (\overline{a} + \overline{b}) + \overline{c} = \overline{a} + \overline{b} + \overline{c}$
 $= (\overline{a} + \overline{b}) + \overline{c}$

\mathbb{D}	ef:	A	9100	, tab	le	is	\$
_ +	uble	of	all	the	912	g.	
Ċ	alcul	ations	do	ne li	ke	th	is
	$\left(\mathbf{F} \right)$			b			
_						_	
	i r					_	
_	a			a+b			
-							

Ex: Let's calculate the group table for $\mathbb{Z}_3 = \{\overline{0}, \overline{1}, \overline{2}\}$





In Math 4680, you will study
the complex exponential function.
Part of that will involve
Euler's formula. Define
$$\Theta = \cos(\Theta) + i\sin(\Theta) + \frac{\varepsilon_{vler's}}{\varepsilon_{ormula}}$$

when Θ is a real number.



For example, $P_{i}^{\underline{+}} = \cos\left(\underline{+}\right) + i\sin\left(\underline{+}\right)$ = 0+え・1 二人







Key facts: 6 zπki = l KE Z if 6 Proof: $2\pi k \lambda = \cos(2\pi k) + \lambda \sin(2\pi k)$ こ ト え つ _____ Unif circle ZTTKI 1=e B k=2

Theorem: If $\Theta_1, \Theta_2 \in \mathbb{R}$, then $e^{\Theta_1 \lambda} \cdot e^{\Theta_2 \lambda} = e^{(\Theta_1 + \Theta_2)\lambda}$ Proof: $\theta_1 \lambda \theta_2 \lambda = \left[\cos(\theta_1) + i \sin(\theta_1) \right] \left[\cos(\theta_2) + i \sin(\theta_2) \right]$ $= \left[\cos(\theta_1) \cos(\theta_2) - \sin(\theta_1) \sin(\theta_2) \right]$ $+i\left[\cos(\theta_{1})\sin(\theta_{2})+\sin(\theta_{1})\cos(\theta_{2})\right]$ trig = $\cos(\theta_1 + \theta_2) + \lambda \sin(\theta_1 + \theta_2)$ identifies = $e^{(\theta_1 + \theta_2)\lambda}$ $E_X: e^{\frac{W}{2}} e^{\frac{W}{2}} = e^{\frac{W}{2}} = e^{-\frac{W}{2}} = e^{-\frac{W}{2}}$

Define the <u>n-th</u> roots of unity to be $U_n = \{z \mid z \in \mathbb{C} \text{ where } z^n = 1\}$

For example, $U_2 = \{z \mid z \in \mathbb{C} \text{ where } z^2 = 1\}$ $= \{1, -1\}$



$$T_{n} \text{ Math 4680 you show that} \\ U_{n} = \left\{ \left(e^{\frac{2\pi}{n}x} \right)^{k} \middle| k = 0, 1, 2, ..., n-1 \right\} \\ = \left\{ f^{\circ}, f^{\circ}, g^{\circ}, g^{\circ}, g^{\circ}, ..., g^{n-1} \right\} \\ \text{Where } f = e^{\frac{2\pi}{n}x} \\ \hline Ex: U_{3} = \left\{ f^{\circ}, g^{\circ}, g^{\circ}, g^{\circ} \right\} = \left\{ 1, 5, g^{\circ} \right\} \\ \text{Where } f = e^{\frac{2\pi}{3}x} \\ \text{Where } f = e^{\frac{2\pi}{3}x} \\ = e^{\frac{2\pi}{3}x} \\ = \left(e^{\frac{2\pi}{3}x} \right)^{2} = g^{2} \\ \hline f^{\circ} = f^{\circ} \\ \hline f^{\circ} = f^{\circ}$$

Proof: (Skip in class)
(1) Let
$$z_1, z_2 \in U_n$$
. Then, $z_1^n = 1$ and $z_2^n = 1$.
So, $(z_1 z_2)^n = z_1^n z_2^n = 1 \cdot 1 = 1$.
Lecause multiplication is commutative
in C
So, $z_1 z_n \in U_n$.
(2) Given $a_1 b_1 c \in U_n$ we have
 $a_1 (b \cdot c) = (a \cdot b) \cdot c$
because C is commutative under multiplication.
(3) $1^n = 1$.
Thus, $1 \in U_n$.
(4) If $z^n = 1$, then $1 = \frac{1}{z^n} = (\frac{1}{z})^n$ giving $\frac{1}{z} \in U_n$.
(5) C is commutative under multiplication.

Thus,
$$a \cdot b = b \cdot a$$
 if $a, b \in Un$.
By $D - G$ we have that Un is
an abelian group.

Key computational fact: In U_n , if $S = e^{2\pi i}$ then $g^n = 1$

Some multiplications in
$$U_3 = \{1, 5, 5^2\}$$

 $1 \cdot 5^2 = 5^2$
 $3 \cdot 5^2 = 5^3 = (e^{2\pi i})^3 = e^{2\pi i} = 1$
 $3^2 \cdot 5^2 = 5^4 = 5^3 \cdot 5 = 1 \cdot 5 = 5$
 $3^2 \cdot 5^2 = 5^4 = 5^3 \cdot 5 = 1 \cdot 5 = 5$
 $5^3 = 1 \cdot$



Example: Dihedral groups Let N7,3. The dihedral group Den is the set of symmetries of the regular n-gon (an n-sided polygon with each side of equal length, ex: equilateral triangle, square, pentagon, hexagon, etc). symmetries The operation on two is function composition.

Let's look at D₆ (n=3), the symmetries of an equilateral triangle









Here $P_6 = \{2, r, r^2, s, sr, sr^2\}$ Where I is the identity function, $r^{3} = 1, s^{2} = 1.$ So, $r^{-} = r$ since $rr^{2} = 1$ and $5^{-}=5$. since ss=1Also, $rs = sr^2 = sr^2$ and $r^2 = sr^2 = sr$



Let's do some calculations in $D_6 = \{2, r, r^2, s, sr, sr^2\}$ use are: Main things to $\Gamma S = S \Gamma', \Gamma S = S \Gamma^2$ $S^{2}=1, \Gamma^{2}=1,$ $\Gamma = \Gamma^2, \ \Gamma^2 = \Gamma$ ltere we go: $r^2 sr^3 = sr^2 r^3 = sr$ $(Sr)(Sr) = Srsr = Ssr'r = s^2 = 1$ $(Sr)(r^{2}) = Sr^{3} = S$ $(r^{2})(sr) = r^{2}sr = sr^{2}r = sr^{-1} = sr^{-1} = sr^{2}$ Note $(sr)(r^2) \neq (r^2)(sr) s \supset D_6$ is not abelian. In HW you will calculate the group table for D6.

For general
$$D_{2n}$$
, $n \ge 3$ we have:
 $D_{2n} = \{1, r, r^2, \dots, r^{-1}s, sr, sr^2, \dots, sr^{-1}\}$
where
 $r^n = 1$
 $s^2 = 1$
 $r^k = r^{n-k}$
 $r^k s = sr^{-k} = sr^{n-k}$
 $E_{x:} D_8 = \{1, r, r^2, r^2, s, sr^2, sr^3\}$
 $r^4 = 1, s^2 = 1$

some computations $2^{2} -2^{3} = 5r^{2} = 5r^{2}$ $r^{2} r^{2} = 5r^{2} r^{2} = 5r^{2}$ $s(sr^{2})(sr) = s^{2}r^{2} sr = r^{2} sr = sr^{2} = sr^{3}$ $= sr^{4-1} = sr^{3}$

Let's review some Math 2550 so
we can look at matrix groups
Given two matrices
$$A = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$$

and $B = \begin{pmatrix} e & f \\ g & h \end{pmatrix}$, then
 $AB = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \begin{pmatrix} e & f \\ g & h \end{pmatrix}$
 $= \begin{pmatrix} (ab) \cdot \begin{pmatrix} e \\ g \end{pmatrix} & (ab) \cdot \begin{pmatrix} f \\ h \end{pmatrix} \\ (cd) \cdot \begin{pmatrix} e \\ g \end{pmatrix} & (cd) \cdot \begin{pmatrix} f \\ h \end{pmatrix}$

For example,

$$\begin{pmatrix} 1 & 1 \\ -1 & 3 \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 4 & -3 \end{pmatrix} = \begin{pmatrix} (1 & 1) \begin{pmatrix} 2 \\ 4 \end{pmatrix} & (1 & 1) \begin{pmatrix} 0 \\ -3 \end{pmatrix} \\ (-1 & 3) \begin{pmatrix} 2 \\ 4 \end{pmatrix} & (-1 & 3) \begin{pmatrix} -3 \\ -3 \end{pmatrix} \end{pmatrix}$$

 $= \begin{pmatrix} 1 \cdot 2 + 1 \cdot 4 & 1 \cdot 0 + 1 \cdot (-3) \\ -1 \cdot 2 + 3 \cdot 4 & -1 \cdot 0 + 3 (-3) \end{pmatrix} = \begin{pmatrix} 6 & -3 \\ 10 & -6 \end{pmatrix}$

Recall that $I = \begin{pmatrix} I & 0 \\ 0 & I \end{pmatrix}$ is the identity matrix. ;f A matrix A is invertible where there exists a matrix B AB = I = BA.Furthermore, $A = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$ is invertible iff det (A) = ad-bc ≠0 And if this is the case then $A^{-1} = \frac{1}{\alpha d - bc} \begin{pmatrix} d & -b \\ -c & \alpha \end{pmatrix}$ For example, if $A = \begin{pmatrix} 1 & -1 \\ 2 & 3 \end{pmatrix}$ then $det(A) = 3 - (-2) = 5 \neq 0$. So, A is invertible and $A^{-1} = \frac{1}{5}\begin{pmatrix} 3 & 1 \\ -2 & 1 \end{pmatrix} = \begin{pmatrix} 3/5 & 1/5 \\ -2/5 & 1/5 \end{pmatrix}$

Theorem: Let $GL(2, \mathbb{R}) = \begin{cases} (ab) \mid a,b,c,d \in \mathbb{R} \\ (cd) \mid ad-bc \neq 0 \end{cases}$ be the set of 2x2 matrices Will real number Coefficients that have non-Zero determinant. Then, GL(ZIR) is a group under matrix multiplication The identity element is $T = \begin{pmatrix} 1 \\ 0 \\ 1 \end{pmatrix}$ and if $\begin{pmatrix} a & b \\ c & d \end{pmatrix} \in GL(2, \mathbb{R})$ then $\begin{pmatrix} a & b \\ c & d \end{pmatrix}^{-1} = \frac{1}{ad-bc} \begin{pmatrix} d & -b \\ -c & a \end{pmatrix}$

Proof: (Skip in class)
(D) Let A, BE GL (2/R) with A =
$$\binom{a \ b}{c \ d}$$
 and B = $\binom{e \ f}{g \ h}$
Then AB = $\binom{ae+bg}{c \ e+dg} \ af+bh}$ has real number entries
Also since A, B E GL (2/R) we know
del(A) = and det(B) = 0.
Thus, det(AB) = det(A) det(B) = 0.
So, AB E GL (2/R).
(E) Let A = $\binom{a \ b}{c \ d}$, B = $\binom{e \ f}{g \ h}$, C = $\binom{i \ j}{k \ d}$ E GL (2/R).
Then,
A(Bc) = $\binom{a \ b}{c \ d}$ ($e^{i+fk} \ e^{i+fk}$)
 $= \binom{ae+bg}{ca+afk+bgi+bhk} \ ae^{i+afk+bgi+bhk}$
 $= \binom{ae+bg}{ca+cfk+dgi+dhk} \ ce^{i+cfk+cgi+chk}$
 $= (ae+bg \ af+bh) (i \ j)$
 $= (AB)C$
(3) I = $\binom{a \ b}{c \ d} \in GL(2/R)$. Then, ad-bc = 0.
Set B = $\frac{1}{ad-bc} \binom{d-b}{c-c}$. Then, det(B) = $\frac{da}{(ad+bc)^2} - \frac{bc}{(ad+bc)^2} = \frac{1}{ad+bc} \pm 0.$
So, B E GL (2/R). And
AB = $\binom{a \ b}{c-c'(ad+cc)} - \frac{b}{(ad-bc)} = \binom{i \ o}{c \ i}$
BA = $\binom{a \ b}{(c-c'(ad-cc))} - \binom{a \ b}{(ad-bc)} (c \ d) = \binom{i \ o}{c \ i}$

Thus, B is an inverse for A.

By (D-G), GL(2,1R) is a group under matrix mult.

Some calculations in
$$GL(z, IR)$$
.

$$A = \begin{pmatrix} I & Z \\ 0 & -I \end{pmatrix}, B = \begin{pmatrix} Z & Z \\ I & Z \end{pmatrix}$$

$$det(A) = -I \neq 0 \qquad so \quad A \in GL(Z, IR)$$

$$det(B) = 4 - 2 = 2 \neq 0 \qquad so \quad B \in GL(Z, IR)$$

$$AB = \begin{pmatrix} 2+2 & 2+4 \\ -1 & -2 \end{pmatrix} = \begin{pmatrix} 4 & 6 \\ -1 & -2 \end{pmatrix} \qquad AB \neq BA$$

$$GL(z, IR)$$

$$BA = \begin{pmatrix} 2+0 & 4-2 \\ 1+0 & 2-2 \end{pmatrix} = \begin{pmatrix} Z & Z \\ 1 & 0 \end{pmatrix} \qquad AB \neq BA$$

$$A^{-1} = \frac{1}{-1} \begin{pmatrix} -1 & -2 \\ 0 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 2 \\ 0 & -1 \end{pmatrix}$$
$$B^{-1} = \frac{1}{2} \begin{pmatrix} 2 & -2 \\ -1 & 2 \end{pmatrix} = \begin{pmatrix} 1 & -1 \\ -\frac{1}{2} & 1 \end{pmatrix}$$

Theorem: Let < G, *7 be a group. D The identity element e is unique. Then: 2) Each element aEG has a unique inverse which we will denote by a'. 3) If $\alpha \in G$, then $(\overline{a'})^{-1} = \alpha$ (4) If $a, b \in G$, then (a * b)' = b' * a'D Suppose e, eze G are both identifies. That is, $e_{,} \star \alpha = \alpha \star e_{1} = \alpha$ $e_2 \star \alpha = \alpha \star e_2 = \alpha$ for every aEG. $e_1 = e_1 + e_2 = e_2$ φ Then, $(\alpha = \alpha * e_2)$ $(e_1 * \alpha = \alpha)$

(2) Let a ∈ G. Suppose bi, bz are both inverses for a. Then,

$$a + b_1 = b_1 + a = e$$

$$a + b_2 = b_2 + a = e$$

Thus,

$$a + b_1 = e = a + b_2$$

Multiply by b_1 on the left to get
 $b_1 + (a + b_1) = b_1 + (a + b_2)$
Then by associativity
Then by associativity
 $(b_1 + a_1) + b_1 = (b_1 + a_1) + b_2$
 e
So, $e + b_1 = e + b_2$
Thus, $b_1 = b_2$.

(3) Since $\alpha \star \alpha' = e$ and $\vec{a} \star \alpha = e$ by def of inverse we have $(a^{-1})^{-1} = a$. (4)(a+b)+(b'+a') $=((a*b)*b^{-1})*a^{-1}$ =(a * (b + b')) * a' $=(a * e) * a^{-1}$ $= \alpha * \alpha^{-1}$ $Thus, (a * b)^{-1} = b^{-1} * a^{-1}$ ///

Notation: When dealing with an
abstract group
$$\langle G, K \rangle$$
 we make
the following conventions.
We will just write ab
instead of atb for simplicity.
For example, aabcbdd
For example, aabcbdd
means $a \star a \star b \star c \star b \star d \star d$.
By associativity we never need
to use parentheres anymore.
If n is positive integer, then
 $a^{\circ} = a a a \dots a$
 $times$
 $a^{\circ} = (a^{\circ})(a^{\circ})(a^{\circ}) \dots (a^{\circ})$
 $a times$

 $a^{\circ} = e$

For example, a=aaa a = a a a a a $a^{-1}a^{3}b^{-3}c^{2} = a^{-1}aaab^{-1}b^{-1}b^{-1}cc$

In HWI we will still see the * notation in proofs for abstract groups but after that we will drop the notation.